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O1.€e=EH| 900
SHEAl SNBESN M M HME
900,000& 900

-2 -




2N

Ak
3 (=X A (AMI=EXN/ES - IFLUHY)
el ClEEY 2 (sl &2)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O6.9 1tz 3,000
-HAOs 2 Ns MY S
500,000 »2CH *32] 3,000
202 044l 2,000 2,000 0
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09 &AL HI B A S 1,200 1,200 0
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MYHHIE2Z(HEAMZLGHINHH2Y )<EX> 438,461 407,695 30,766
= 317,629
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- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
OYK0t S8 =0lAlE X AE=20Y]
500,000,000 x0.72/100%50%< & 2+> 1,800
HElold 202 e X< x> 80,000 0 80,000
== 40,000
Al 40,000
307 2Iz2t0| & 80,000 0 80,000
< 40,000
Al 40,000
IEEFINEEE: 80,000 0 80,000
OZA=E RI0IY 2SS X
80,000,000 80,000
< 40,000
Al 40,000
olo|#= =220 XN (BX) 1,980,730 0 1,980,730
= 594,219
Al 1,386,511
307 212t0| & 1,980,730 0 1,980,730
o 594,219
Al 1,386,511
11 A EXAIEEX 1,980,730 0 1,980,730
oololgiE=0l AHA 1,980,730,000& 1,980,730
& 594,219
Al 1,386,511
ANEZUZZHES S (2EXAZE) 187,777 297,561 A 109,784
309 =2 175,061 297,161 A 122,100
01 ZA- 2HINMNNEZ 175,061 297,161 A 122,100
OANEZ2IZ2C EXAIYE FNEE2 175,061
-0tO| 2Ot =2t Xt 175,061,000 175,061
404 S2MNBHE2NE2 12,716 400 12,316
01 BA- 2HA2M8E2 12,716 400 12,316
OANEZZIZ2C EXAYE NH=2dE=2 12,716
-0tO| 2Ot =E et A+ 12,716,000& 12,716
Ogols X= 12,200 11,680 520
201 et d| 5,880 5,520 360
01 AFR 2t 2| bl 5,880 5,520 360
O1.48t=2H| 3,000
-BEEXE bt42H| 2,000,000 2,000
-22 ZLUHE g8sS20AM 89
5008 %2, 0008 1,000
O5.2&H| 8,000 x3Ex10L 128 2,880
202 o4 H| 5,040 5,040 0
01 2U0i b 5,040 5,040 0




FMN: HEdESMEFRD
FH: BRI (MI=EX/ES - IBLHY)
Sl BEEM £ (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OESINEURHER 2= 04l
60,0003 *3H 3 63| 3,240
OA=XNFAZ WXES o
60,0003 *3H x5 +23| 1,800
301 gt L= 1,280 1,120 160
09 SALAHIEAS 1,280 1,120 160
OSSX =T AL AHASALX S 4
8,000& »20H x5 800
OOtsstHu e & M E 3o FAL =4
8,000& 20 +33| 480
F2 ZUHEH 2E<EX> 26,000 26,650 A 650
= 13,000
< 3,900
Al 9,100
301 et A3z 26,000 26,650 A 650
= 13,000
< 3,900
Al 9,100
1MIIEBESS 26,000 26,650 A 650
22 2UHEH2E N 26,000,000& 26,000
= 13,000
< 3,900
Al 9,100
OtSXE(MsEX/BE] - IIFLAHY) 20,570,373 7,854,020 12,716,353
= 11,582,734
J| 744,163
< 1,897,971
Al 6,345,505
ots=X & 20,570,373 7,854,020 12,716,353
= 11,582,734
J| 744,163
< 1,897,971
Al 6,345,505
Ots =Xl & &t 280,620 255,700 24,920
201 24| 13,280 3,280 10,000
01 At 2t 2l 13,280 3,280 10,000
O1.det==2Hl 10,000
-Ols=SXgR AL =E 10,000, 000& 10,000
03.2g8=¢ 3,280
OS24 L OISEXANE BHLY
70,0003 x8H x43] 2,240
-OISSXAE M g A=Y
130,000 »2H *43] 1,040
301 LerEa = 111,340 111,220 120
01 MEIBEE 2063 5,700 5,700 0




AN GESOESY
H: OtsKE (MIIEX/ES - IELUHA)

e OIsSEX X (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OOSSAAE (Hese 188) 7=
20,000 x95% x33| 5,700
08 MBI EX2IBAZ 101,640 101,640 0
OMSELRE FAYH|
7,000 x55Y »22 « 128 101,640
09 SHAIAHI B A2 4,000 3,880 120
OOIS=SXAIE AKX % OHS=X DA DK
gl 60,000& »2H 2 x33| 720
OO0IsSEXNAE SAA &9 A =4
8,000 x60H x23| 960
OOS?I® 3o &4 A2y
20,000 *58H x23| 2,320
307 2Iz2to| & 156,000 141,200 14,800
10 MM SXAANEEHESIGHEX 121,200 116,400 4,800
OHNellisd EY ey 6,000,000& 6,000
OX<E0otsHEH SAX LML
100,000 662 x12& 79,200
OX<E0otsHE HtgrH X
600,000 *60JH A~ 36,000
11T A EXAIEEX 34,800 24,800 10,000
O0IEL=R el 23td==H 1,800, 000& 1,800
OFUoO{el0] AR U ALMHS
3,000,000& 3,000
OX<E0otsHdH A=t G A& 20,000,000 20,000
OZSANXNYGOISHEHAES S JIE 8 2O
10,000,000 10,000
OISYBAL 2YX AR E> 1,482,448 1,324,778 157,670
& 103,771
Al 1,378,677
307 212+0 & 1,482,448 1,324,778 157,670
& 103,771
Al 1,378,677
10 MM SAANEEHESIHEX 1,482,448 1,324,778 157,670
Otsed=AlId 2 XA 1,482 ,448,000& 1,482,448
& 103,771
Al 1,378,677
OlSS X ANESAXE=SE<EER> 108,000 59,400 48,600
o=} 21,600
Al 86,400
307 QI2t0| ™ 108,000 59,400 48,600
= 21,600
Al 86,400
10 Al EXANEEHE2IGH EX 108,000 59,400 48,600
Ous=XNAIE SMI =2 XS
108,000, 000& 108,000
= 21,600




2N OEENRST
HE: OISXR(MESX/2S - HSL0Y)
o9l OS=X S CER-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

| Al 86,400

Ots2d=EAE S22 023 H NJA<E > 25,000 25,000 0
7,500
17,500

= M

307 21201 & 25,000 25,000 0

7,500
Al 17,500

H

10 AR SAAEHISSHIEX 25,000 25,000 0
OOtSLFAIE

x
an
o
[H
Hu
IJ
I
M
02
[
=
o

25,000,000& 25,000

7,500
17,500

= M

Ols &= A4 2tAH X&<E x> 25,920 12,122 13,798

7,776
Al 18,144

m

307 21201 & 25,920 12,122 13,798

7,776
Al 18,144

H

10 A SAAIEHIESSHIEX 25,920 12,122 13,798
OO0ts2SE A4 2tAH K& 25,920,000 25,920

7,776
18,144

=

MASO(OISLSAE =2 X HAZ2H X )<EX> 250,000 250,000 0
225,000
17,500
7,500

= MW

301 fELE A= 250,000 250,000 0
225,000
17,500
7,500

= MW

RSESES B 250,000 250,000 0

OO SLSAEANE =31 JI=dASH
250,000, 000& 250,000
225,000
17,500
7,500

= H W

A&0tS ot H +=&HI<2 x> 6,300 5,600 700

1,890
4,410

= M

307 21201 A 6,300 5,600 700

1,890
4,410

= M

A S XA E = 6,300 5,600 700
OAlZ0ts StAHl«=&Hl X3 6,300,000 6,300

1,890
Al 4,410

tn




CHESMESD

H: ObsSXNE(MI=EX/ES - HELAHY)

D ors =X s

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

AN&0ts WSHX3<E x> 7,500 7,500 0
< 1,500
Al 6,000

307 gl2tol & 7,500 7,500 0
< 1,500
Al 6,000

11T AIS S RAEE = 7,500 7,500 0
OAlE0tE =t X& 7,500,000& 7,500
< 1,500
Al 6,000

AN&0ts WS XIHEI<EE> 3,250 4,000 AT750
= 975
Al 2,275

307 glz2+0l & 3,250 4,000 AT750
< 975
Al 2,275

11T MISRASEX 3,250 4,000 AT750
OANE0IS DEXY K& 3,250,0002 3,250
= 975
Al 2,275

AN&E0ts JlsnsHI<Ex> 3,000 3,000 0
< 900
Al 2,100

307 21201 A 3,000 3,000 0
< 900
Al 2,100

11T AL S XA E = 3,000 3,000 0
OAlZ0tEs Jlsu=sd X& 3,000,000& 3,000
< 900
Al 2,100

ANE0Ots A2 EAHI<E x> 1,800 1,600 200
S 540
Al 1,260

307 glz2tol & 1,800 1,600 200
< 540
Al 1,260

11T M SRAISE EX 1,800 1,600 200
OAlZ0ots A2 ad X 1,800,000& 1,800
= 540
Al 1,260

AEOE A4 Zelb<e x> 17,520 17,520 0
= 5,256
Al 12,264

307 21240 17,520 17,520 0
< 5,256
Al 12,264




2N
X ZH -
L= B

el

HdsaMER1
OFS XA (MIEX/ES - II=ELAHA)
Ot==EX &

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
11T M SRASE EX 17,520 17,520 0
OAlZ0ots ald2eld X 17,520,000& 17,520
= 5,256
Al 12,264
ANEOtS =3 O HI<EX> 3,250 3,250 0
< 975
Al 2,275
307 21201 A 3,250 3,250 0
< 975
Al 2,275
11T MISXASEX 3,250 3,250 0
OAE0ts =St &bl XI& 3,250,000 3,250
< 975
Al 2,275
NEOIS =X 2abl 2 FH<2E> 4,500 3,930 570
= 1,350
Al 3,150
307 21201 A 4,500 3,930 570
< 1,350
Al 3,150
10 ALl SXAIEEE2EH EX 4,500 3,930 570
OAlZ0ts &H =R4H ¥ 2&EH X
4,500,000 4,500
< 1,350
Al 3,150
Ela0ls ANEHEAHS<ED> 50,000 35,000 15,000
< 15,000
Al 35,000
307 21201 A 50,000 35,000 15,000
= 15,000
Al 35,000
10 AL SXNAIEEE2EHEX 50,000 35,000 15,000
Oflax0ts MHEgFEAS XA 50,000, 000& 50,000
< 15,000
Al 35,000
FHAHBOIS N <R X> 57,400 53,400 4,000
< 13,220
Al 44,180
301 LBHR A2 57,400 53,400 4,000
< 13,220
Al 44,180
01 MEIEZE+6l= 57,400 53,400 4,000
ONA=20ts et stz 40,000,000& 40,000
< 8,000
Al 32,000




CHESMESD
OIS XY (MIEX/ES - IIELAHY)
D ors =X s

SN P SA(EN) - MBAY - BES

=
i

2

OENSENEW/ P
A& 14,400,000&

He
N
0
40
Jo
f=]
omn
0z
=)
Hon
o
)3
o

O
k>
m
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i
S}

ol
He
N
0
10
Jo
f=]
omn
EJ
J
o

= M

= M

14,400

4,320
10,080

3,000

900
2,100

O
e
g
bl
0
X
Lval

OlsSZE XA HZ XX SHHME &L= (0
A& )<B x>

= W

264,254

184,976
23,783
55,495

203,

230

61,024

= MW

264,254
184,976
23,783
55,495

203,

230

61,024

264,254,000&

= MW

264,254
264,254

184,976
23,783
55,495

203,

230

61,024

0]
HL
fol
o
om
IJ
1
Ol
Mo
02
-
10
N
T
P
Vv

hn X

Al

236,844
94,738
42,632
99,474

,066

23,778

307 21201 &

Jl

H

Al

236,844
94,738
42,632
99,474

,066

23,778

10 AtRI S XA EE

EEES
OREP50ES18E 29X

236,844,000&

J|

Al

236,844

236,844
94,738
42,632
99,474

,066

23,778

>
jie}
=}
O
H
fol
=
MO
S
g
A0
02
>
{0
A
W
[==
A\

Il

H

Al

545,524
247,966

74,389
223,169

545,

524

307 21201 A

=z HmnY

545,524
247,966

74,389
223,169

545,

524

10 A SXAEHE2SEHIEX

=
OXlYotsEsd=)2 2EX&

545,524,000

J|

H

545,524

545,524

247,966
74,389

545,

524
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2N

HEESMEFW

- = LU
HM: OIS KNI (AMIEX/BES - HEULHA)
e OIsSEX X (2 &HH)
2 S 4
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
| Al 223,169
NEOSESHEESI|S SAL =SH<EX> 30,840 31,200 A 360
& 6,360
Al 24,480
307 2Iz2to| & 30,840 31,200 A 360
= 6,360
Al 24,480
10 M SXAANEEHESIGHEX 30,840 31,200 A 360
OXE0tsSEadESI & SAX =&
30,840,000 30,840
& 6,360
Al 24,480
SHIHIIoHOtS 29|, 0124, AFS I (S CHIloH Ot = 464,310 132,215 332,095
HEHSY )<EX>
J| 185,724
& 83,576
Al 195,010
307 QI2t0| & 464,310 132,215 332,095
J| 185,724
& 83,576
Al 195,010
10 A SAANEEHESIGHEX 464,310 132,215 332,095
Osttimoiotsae 29 X& 464 ,310,000& 464,310
J| 185,724
& 83,576
Al 195,010
UAOSIIE X JA<E > 308, 191 293,115 15,076
Dl 215,735
= 27,739
Al 64,717
301 et A= 308, 191 293,115 15,076
Jl 215,735
o= 27,739
Al 64,717
01 Al E & A 452 308, 191 293,115 15,076
OgAots = I 262,499,000& 262,499
J| 183,751
&< 23,623
Al 55,125
OFOls dAAFBXZ 25,779,000 25,779
Jl 18,045
o 2,323
Al 5,411
OYd=4D|2t INDAEE! 3,750,000& 3,750
J| 2,625
= 338
Al 787
Ol N 16, 163,000& 16,163
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2N OEENRST
HE: OISXR(MESX/2S - HSL0Y)
o9l OS=X S CER-ED

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2
==
£l
Ol
0y

11,314
1,455
3,394

ol I

°
02
Q
Om
i
ol
oy
P}
o
A
H
P
v

8,000 8,000 0

2,400
5,600

= M

301 et d = 8,000 8,000 0

2,400
Al 5,600

H

01 A28 H =0dl= 8,000 8,000 0

ogdots=sts K& 8,000, 000& 8,000
= 2,400
Al 5,600

Y IIEAE IS Y XN B R E<EE> 4,400 3,234 1,166
3,080
396
924

= Hn W

301 2ELE A= 4,400 3,234 1,166
3,080
396
924

= M W

EEFEEYE! 4,400 3,234 1,166
OYY LS MAXBXR (B K
- 29) 4,400,00094 4,400
3,080
396
924

Ho

= W

IHEAHLF XN HF<E D> 214,200 214,200 0
21,420
192,780

= N

301 LELE A= 214,200 214,200 0

21,420
Al 192,780

H

01 AR 2&H =63 214,200 214,200 0
ONEAEHLFNE 214,200,000& 214,200

21,420
Al 192,780

H

AEAHIE X A<EE> 1,800 1,800 0

180
Al 1,620

H

301 LEE A 1,800 1,800 0

180
Al 1,620

H

X =0l= 1,800 1,800 0
O2HAHIIZXE 1,800,000& 1,800
180
Al 1,620

H
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AN GESOESY
H: OtsKE (MIIEX/ES - IELUHA)

gl ots=EX 5d (Sl & &)

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

i
2

ool 2&X A XI& 30,000 30,000 0

307 21201 & 30,000 30,000 0

11T M SXAISE EX 30,000 30,000 0
oogolrg 718 2& X A 30,000,000& 30,000

ANSGotsSdH2ENA<EE> 3,601,146 3,034,212 566,934
1,800,573

540,171
1,260,402

= M W

307 21201 & 3,601,146 3,034,212 566,934
1,800,573

540,171
1,260,402

= M W

10 A SXAAEHE2SEHIEX 3,601,146 3,034,212 566,934
OXgotsdEH 28X & 3,601, 146,000& 3,601,146

1,800,573
540,171
1,260,402

Z W

SEXNS0tSHE X A<E X> 55,200 0 55,200
27,600
8,280
19,320

= N H

307 glztol & 55,200 0 55,200
27,600
8,280
19,320

=z N H

HERIHEX 55,200 0 55,200
[ OtSHE XIS 55,200,000& 55,200
27,600

8,280
19,320

= MW

NAOtsHEH SAX =<2 x> 208,320 204,960 3,360

41,664
166,656

= M

307 21201 & 208,320 204,960 3,360

41,664
Al 166,656

H

22X 208,320 204,960 3,360
OXYotsHE SALR =& 208,320,000& 208,320

41,664
166,656

= M

OtS S X WAHIFA X A<E 2> 474,158 457,686 16,472
237,079

71,122
165,957

= N H

101 @124l 474,158 457,686 16,472
237,079

H
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X ZH -
L= B

el

HdsaMER1
OFS XA (MIEX/ES - II=ELAHA)
ot==X &&

[

SN P SA(EN) - MBAY - BES

Off &t 24

=

i
2

71,122
165,957

04 DIt 22 XS+

OOts=S XN WAMIFAX 474,158,000&

= N W

474,158

474,158
237,079

71,122
165,957

457,686

16,472

ANEtsSHHESIZZ2 DK JA<EER>

Al

10,000

3,000
7,000

10,000

307 glztol &

Al

10,000

3,000
7,000

10,000

10 M SXNANEEESSHER

OXSotsHH ST 1S X
10,000,000&

= N

10,000

10,000

3,000
7,000

10,000

IEIAL P SELONSHEE RSB A<EE>

Al

27,000

8,100
18,900

27,000

Al

27,000

8,100
18,900

27,000

OJNEfIEeEs S20sHE8dd=NE
2

7,000,000&

= M

27,000

27,000

8,100
18,900

27,000

= W

62,016
31,008

9,301
21,707

74,820

A 12,804

307 glztol &

= n

62,016
31,008

9,301
21,707

74,820

N 12,804

10 M SXNANEEE2SHES

OXSotsSHH ERSEXE 62,016,000

= N W

62,016
62,016

31,008
9,301
21,707

74,820

N 12,804

Jm
1>
Jo
)l
o
-
40
=
19
j=}
o
[z
m
Ho
02
-
10
~
H
P
Vv

= N H

51,156
25,578

7,675
17,903

62,208

A11,052

307 21201 &

51,156

62,208

A11,052
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2N
X ZH -
L= B

el

O

HdEM4EFY

OFS XA (MIEX/ES - II=ELAHA)

ot==X &&

[

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 25,578
< 7,675
Al 17,903
10 ALSISXAIEEE2EH EX 51,156 62,208 A 11,052
OXdotsde S==HEX&  51,156,000& 51,156
= 25,578
< 7,675
Al 17,903
OlsS==E2HMERS<ED> 124,524 0 124,524
= 87,167
< 11,207
Al 26,150
101 @124l 124,524 0 124,524
= 87,167
< 11,207
Al 26,150
04 JIZHHNZ2Z2XNSE+ 124,524 0 124,524
Ots+=2HE = 124,524,000& 124,524
= 87,167
< 11,207
Al 26,150
Ots=ZHE2A<E > 10,748 0 10,748
= 7,522
< 967
Al 2,259
201 ¢4l 10,748 0 10,748
= 7,522
< 967
Al 2,259
01 At 22l 10,748 0 10,748
O0ts+42 HME2g (MY FZXd|)
10,748,000 10,748
= 7,522
< 967
Al 2,259
Ot (0ts+E430HNS)KEX> 10,527,076 0 10,527,076
= 8,421,661
= 631,625
Al 1,473,790
301 et d = 10,527,076 0 10,527,076
= 8,421,661
< 631,625
Al 1,473,790
01 MEIEBEZE+05l= 10,527,076 0 10,527,076
O0ts=% =0 10,527,076,000& 10,527,076
= 8,421,661
< 631,625
Al 1,473,790
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SN HEEMEFD
HH: OtS XA (A Pil N/Es-Hs40d)

& ots=EX A (&)
2 S 4
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2

NE0tsEsdE2II2 2 XJA<EH> 80,563 0 80,563
< 24,169
Al 56,394

307 gl2tol & 80,563 0 80,563
< 24,169
Al 56,394

10 AL SXNAIEEE2EH EX 80,563 0 80,563
OXdgots2sdIII22Z XA 80,563,000& 80,563
< 24,169
Al 56,394

X S0t S HIEf 8 2l & Bl <2 X > 11,000 0 11,000
< 3,300
Al 7,700

307 glz2+0l & 11,000 0 11,000
< 3,300
Al 7,700

10 ALSISEXAIEEE2EHEX 11,000 0 11,000
OXgotsdH &3 IH&HI 11,000, 000& 11,000
< 3,300
Al 7,700

StHHIIGHE H A 2l A R A<E 2> 8,675 0 8,675
< 2,602
Al 6,073

307 21201 A 8,675 0 8,675
< 2,602
Al 6,073

10 Al SXNAIEEE2EHEX 8,675 0 8,675
OsuloH= eI & X & 8,675,000 8,675
= 2,602
Al 6,073

OtssttisS2dsS YA RA<E X> 7,200 0 7,200
= 2,160
Al 5,040

307 glz2tol & 7,200 0 7,200
< 2,160
Al 5,040

10 AL SXAIEEE 2 H EX 7,200 0 7,200
O0tssttSU=sLAXXH 7,200,000& 7,200
= 2,160
Al 5,040

HellS=s0lMEEEE8<ER> 250,000 0 250,000
= 50,000
Al 200,000

307 21201 A 250,000 0 250,000
< 50,000
Al 200,000

_26_




s

FMN: HEdESMEFRD
HE: OISXR(MESX/2S - HSL0Y)
& ots=EX A (&t
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
11 AISI S XA E = 250,000 0 250,000
0020l S=0IMEE X4 250,000,000 250,000
< 50,000
Al 200,000
SXNZO0AS SRR NAHH X JA<E => 343,490 0 343,490
= 343,490
301 L2 A S 343,490 0 343,490
= 343,490
0B M ELRIBAS 343,490 0 343,490
O=XZ0F A SR223 o]
343,490,000& 343,490
= 343,490
N CYAEE SsAd2e N (ELABEAY) 283,230 245,750 37,480
<8 x>
= 188,000
Al 95,230
201 €82l 174,310 161,790 12,520
= 110,249
Al 64,061
01 At 22l 124,174 121,654 2,520
O1.det==&Hl 117,500
-EEAEE 23| 10,000, 000& 10,000
= 7,500
Al 2,500
-AAX 2 EES ME
3,500& *1,000% *23l 7,000
= 5,250
Al 1,750
-DZ2Y 294 99,800,000& 99,800
= 60,000
Al 39,800
—CEAEE HAAAEH X 22|
700,000& 700
= 525
Al 175
O3.2d=¢ 3,170
-2g9Rs Y BELY
70,0003 x118 +13] 770
= 660
Al 110
-#IHHAE 2 OHEYE A IE ZAE
100, 000& »2H *123] 2,400
= 1,126
Al 1,274
O5.2&Hl 1,920
~CRYAEE URET AAA2LN 24
8,000& x2H 10 x12& 1,920
—_ 27 —_




AN GESOESY
H: OtsKE (MIIEX/ES - IELUHA)
©°el: ots=EA sd

SA - FE - BI(EA) - NRAY - By 0l &t San DS
06.9xt= 1,584
S A Xt 132,000& =128 1,584
= 1,188
Al 396
02 =224l 15,136 15,136 0
O1.3322=LHA 7,000
-CEAEBHE 2323 7,000,000 7,000
= 3,000
Al 4,000
O3. A€ ZHI =Xt 3,500
-CEHAEE AERX 2l 3,500,000& 3,500
O4. X2 4 Bt b 4,636
“NSREH, FSTHUSNH S
4,636,000 »1CH 4,636
= 2,000
Al 2,636
03 &AL2 I 35,000 25,000 10,000
O=sHgas 35,000,000& 35,000
= 29,000
Al 6,000
202 o4 Hl 2,520 1,920 600
01 = LH 4 Hi 2,520 1,920 600
OEZAEE 2FA0H
60,0003 x2H «3 *7 3| 2,520
301 e A3 105,200 80,840 24,360
= 76,551
Al 28,649
01 MI28E 6= 99,800 80,000 19,800
OEZYAEE NIYXE HAAY F&
99,800,000& 99,800
= 72,051
Al 27,749
09 AL HIE &= 5,400 840 4,560
ONESALA ns, ZA Sdla 4T =S4
8,000 25 123 2,400
= 1,500
Al 900
OUEZ &=H 20,0002 x15%F x 102 3,000
= 3,000
405 TtobFH SHI 1,200 1,200 0
= 1,200
01 AL ESFH SH 1,200 1,200 0
OJtail et 400,000 =104 400
= 400
Ol Xt 200, 000& =4H 800
= 800
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RN
Mo B4 M L NS (MAZX/2S - HEL0NS)

Ehel H%z CH AL (&)
SA - BB B () - MM - BES Ol &t o San HmEET
Satzel 3 L SN (AMIEXN/ES - IIEL0E) 12,511,741 11,754,386 757,355
= 1,943,488
J| 2,329,082
= 1,573,590
Al 6,665,581
MEA CHHALS 4,244,350 4,448,790 A 204,440
= 485,100
Al 3,759,250
SEMTHERI =M 163,350 123,790 39,560
101 @124l 20,560 15,520 5,040
04 JIZHHZ2XNSE+ 20,560 15,520 5,040
OLQAMNBESXAAG (LolURtel &) 20,560
== 270,000 x8Z »9& 19,440
-2 2 203 140,000& +8H 1,120
201 £B-2d| 112,790 79,290 33,500
01 At 22l 92,790 61,350 31,440
O1.det==2Hl 84,790
—SMEXR L2 4,000,000& 4,000
-EMEY EEE MA (82 ZAH S)
500,000& *43] 2,000
—EMXAZH W2 600& x10,000% 6,000
-S40t FotAME=2 700& *4,700H 3,290
-el3o g 222 M 1,500, 000& 1,500
It AEME & OAESHIE AlY
s 500,000 x63| 3,000
-0l01 <D E2 Al 28 JIEEE
50,000,000& 50,000
-SUHEEXNINH =5 22 Al
50,0002 1004 5,000
2284 23 x4 10,000, 000& 10,000
O3.2d=¢ 3,200
-E4EY R NE 2AsE
80,000& 10 *43| 3,200
O5.2&Hl 4,800
-SEMIIEXNE YREFA ANLAZ 2L =4
8,000 x5 x10L «12& 4,800
02 232gHl 3,760 3,700 60
O3. A& ZHl s Xt 3,760
-S4 EE § N JMUZROY |FAE
200,000& »12& 2,400
-BHnod Ald SXNE= 1,000, 000& 1,000
—ZE00lg Y RAES 30,000& 122 360
03 A2 Z Hl 16,240 14,240 2,000
Os&FAH M 5,240,000 5,240
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AN GESOESY
X H

HE: BN

SRl HBA BHAY CEEEED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Otz 42X 23l 1,000, 000& 1,000
ooz ¢ J1g4l 10,000, 000& 10,000
202 O4dl 3,600 2,880 720
01 = LH 4 Hi 3,600 2,880 720
OZMIEXNE HRFI 0L
60,0003 x5 & 3 43| 3,600
301 et A3z 12,400 12,100 300
09 EAEHIE &S 12,400 12,100 300
OSMEe MK SAL =4
8,000& 30 62 1,440
Os4t&Ee Jlgsle s F4X 24
8,000& 20 +63] 960
OS0ESSXNEHE XJSALA Al 24
10,000& x4 H 220 8,800
OMESMIHBY EA(T)HA &4 01H
60,000& »20H 1,200
307 21201 A 14,000 14,000 0
11T AR SXAIEE = 14,000 14,000 0
OF2S2 084l %1 #T
6,000,000& x13l 6,000
OOttt 2t Mot 22 4,000,000& 23] 8,000
s4 ¥z NE 2,194,000 2,244,000 A50,000
301 et d = 2,194,000 2,244,000 A50,000
01 Ml2ZE 6= 2,194,000 2,244,000 A 50,000
OsdtEea N 640,000
- T Of 100,000& 2,200 220,000
-SUTHOF O & 1,000,000& »420H 420,000
Osd0t 22282 N 1,404,000
2018 =40t 20,0003 *1,450H 601 & 174,000
-20178 =40t 20,0003 *2,200H x 1201 = 528,000
2016 =40t 20,0003 *2,200H 1204 & 528,000
2015 =M 0t 20,000 *1,450H x601 & 174,000
O4g8014 OXHEIME SE2= XE=
250,000& 600 150,000
SIS LSANE2I<ED> 6,000 6,000 0
< 1,800
Al 4,200
201 et 6,000 6,000 0
< 1,800
Al 4,200
01 At 22l I 6,000 6,000 0
O1.4et=ZHl 6,000
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AN GESOESY
X H

o S0 3 QL SN (MIZN/2S - HSL0Y)
So HEA ALY CERED
o
A - -2 () - NEA Hd= Off &t 24 %l‘&ﬁ Hns2
-SOFEEAAAH 018 YU M S
6,000,0002 6,000
< 1,800
Al 4,200
SOOI A4 E M F 2 SRS E> 1,651,200 1,824,000 A 172,800
= 414,360
Al 1,236,840
301 LBrE A 1,651,200 1,824,000 ~172,800
= 414,360
Al 1,236,840
REEFERYE! 1,651,200 1,824,000 £ 172,800
OEMOt 014 S& =22 X &
50,0002 +2,752% * 122 1,651,200
< 414,360
Al 1,236,840
HMOL BAFAS NB<EE> 229,800 251,000 ~21,200
= 68,940
Al 160,860
301 LBrE A 229,800 251,000 ~21,200
= 68,940
Al 160,860
NEEEEPETE 229,800 251,000 ~21,200
OXMOt S22 N 100,0008 +2,208% 229,800
< 68,940
Al 160,860
S H 7,516,671 6,488,295 1,028,376
= 1,943,488
p] 2,086,698
< 984,409
Al 2,502,076
DaHois 258 2 =X & 63,590 81,660 A 18,070
201 LBt | 1,000 1,000 0
01 Ak 22l 1,000 1,000 0
06.24%2 1,000
SbEOY Iy TEA BAKX HA YR
1,000,000% 1,000
301 LprE a3 50,020 67,520 A17,500
01 AtSl 2 B = 26 2 45,400 62,900 A17,500
OBRRIE SXNAL(EHINE) 98
60,0002 301 CH 331 5,400
OBREINE SXNAL S4% HYFXI
5,000,000 *8 A CH 40,000
09 BAAH 2 A2 4,620 4,620 0
OBIS 2= ZXAE SAK LSO
60,000 32 +32! 540




2N
X ZH -
L= B

el

sS4tz 33 2 IIEXNZ(MI=R/ES - HBL0E
2l

)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
Ot S8R2IE &3 F40H
60,000 «2H 22«17 Al CH 4,080
307 gl2tol & 12,570 13,140 A570
11T M SXAISE EX 12,570 13,140 A570
OSR2IIEXH HEFAZS =gHZ X2
5,620,000 5,620
O0lsd=d 2o & Agdml
2,700,000 2,700
OJIEE 2tE= M-It= 2,000,000& 2,000
O=2MBE oHdo oFES & FHXJAAS
2,250,000& 2,250
StREIIE=XNAE 2 RNIA<ER> 358,090 358,090 0
< 64,530
Al 293,560
307 glz2+ol & 358,090 358,090 0
< 64,530
Al 293,560
10 ALSISXAIEEE2EHEX 358,090 358,090 0
ORR2IIE=EXNANE 2H R 347,290,000 347,290
< 61,290
Al 286,000
OSR2IFFTAELE FAX F4 & ZFH|
4,500,000 4,500
< 1,350
Al 3,150
OSR2IEFFNAE SAANH StA ==& HI
6,300,000 6,300
< 1,890
Al 4,410
SIRIINESINAE SANS=E<E D> 10,080 10,080 0
< 2,016
Al 8,064
307 21201 A 10,080 10,080 0
< 2,016
Al 8,064
10 M2 SXNANEHE2IHEX 10,080 10,080 0
OstREZINE=EXNANE SAA=E
10,080, 000& 10,080
< 2,016
Al 8,064
SIRRNESTAILE 4% &4 - g KN<KEE> 9,104 12,127 A 3,023
J| 4,552
< 1,366
Al 3,186
307 21201 A 9,104 12,127 A 3,023
J| 4,552
< 1,366

_32_




2N
X ZH -
L= B

el

MFY HM Y BN (MIAZX/ES - HEL0S
2l

)

- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o ﬁ}lgﬁ HRE2
Al 3,186
11T A EXAIEEX 9,104 12,127 N 3,023
OBSLINE=ZNNAL UL 4 - IBX &
9,104,000& 9,104
J| 4,552
< 1,366
Al 3,186
SESMEDIEYE (YY) T HRK/<EB X> 37,000 33,600 3,400
J| 37,000
307 2iz2to| & 37,000 33,600 3,400
J| 37,000
10 M3 SAANEEHESIGHEX 37,000 33,600 3,400
OZSHENIH(HLAU) F=HX
37,000,000 37,000
J| 37,000
E2IIE NMEHL=H S KNS<EE> 1,203,399 1,086,750 116,649
J| 962,720
& 72,204
Al 168,475
301 et A= 1,203,399 1,086,750 116,649
J| 962,720
= 72,204
Al 168,475
01 Al E & A 462 1,203,399 1,086,750 116,649
OstE2II=E IHY=H & N
1,203,399,000& 1,203,399
J| 962,720
= 72,204
Al 168,475
SRS X A<EEX> 250,066 181,206 68,860
= 75,020
Al 175,046
301 Bt A= 250,066 181,206 68,860
= 75,020
Al 175,046
01 AISIE & A 462 250,066 181,206 68,860
OStEE2IIEXEH yegs2 100,000,000 100,000
& 30,000
Al 70,000
Ost22IIEXEH W=sHl XN 44 566,000 44 566
= 13,370
Al 31,196
OStE2INEXEH =SS ¢t5: st |
50,000,000 50,000
= 15,000
Al 35,000
OstE2IIEXEH w=dl XN 55,500,000 55,500
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2N

M 4% I3 Y ISR (M=EX/ES - IHBL0Y)
el ST (29l 8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 16,650
Al 38,850
StREIIE NHE XA S<EXR> 36,000 36,000 0
< 10,800
Al 25,200
301 et d = 36,000 36,000 0
< 10,800
Al 25,200
01 M2I2EZE+06l= 36,000 36,000 0
Ost=R 2= NEANAS 36,000, 000& 36,000
< 10,800
Al 25,200
StREEIIE ASAHZHIKER> 558,800 582,800 224,000
< 83,820
Al 474,980
301 et a = 558,800 582,800 224,000
< 83,820
Al 474,980
01 MEIBEE 253 558,800 582,800 224,000
Oet22IIs AsHal 558,800,000 558,800
< 83,820
Al 474,980
LZIOHEHL MEHFHI<E D> 3,400 3,400 0
< 3,000
Al 400
301 e A3z 3,400 3,400 0
< 3,000
Al 400
01 Mel28E+dl= 3,400 3,400 0
OgZUloHeniL Moty s XA
3,400,000 3,400
< 3,000
Al 400
g < x> 5,000 5,000 0
< 1,500
Al 3,500
307 21201 A 5,000 5,000 0
< 1,500
Al 3,500
10 ALSISXAIEEER2IHEX 5,000 5,000 0
OZslldtd 24 5,000,000& 5,000
< 1,500
Al 3,500
IIEEY AL 2EXNA(SSAEL 2R )<E 135,418 117,593 17,825
x>
J| 67,709
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AN GESOESY

M MY M L OIEXNF(MIEXN/ES - NHELHY)
o
]

S IS S (29 a8)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
< 10,156
Al 57,553
307 glz2tol & 135,418 117,593 17,825
J| 67,709
< 10,156
Al 57,553
10 ALSISXAIEEE 22X 135,418 117,593 17,825
Osgadgasr 29RA 135,418,000& 135,418
J| 67,709
< 10,156
Al 57,553
A5 JI3EY AdEA 2R (4584 L 2Y 75,610 73,688 1,922
X )<e x>
J| 37,805
= 5,670
Al 32,135
307 glz2+ol & 75,610 73,688 1,922
Jl| 37,805
= 5,670
Al 32,135
10 ALSISXAIEEE 22X 75,610 73,688 1,922
Oy dEAs 29XH 75,610,000& 75,610
J| 37,805
< 5,670
Al 32,135
NHEEY AdgL 2IRI<KER> 248,724 221,070 27,654
J| 124,362
< 18,655
Al 105,707
307 21201 A 248,724 221,070 27,654
J| 124,362
< 18,655
Al 105,707
OMBEXANEHER2IHIES 248,724 221,070 27,654
Otg=Eyd dga 2N 248,724,000 248,724
J| 124,362
< 18,655
Al 105,707
IHEEZLUHNS ESAE 2 AJ<EER> 110,031 98,088 11,943
J| 77,022
< 9,903
Al 23,106
307 gl2tol & 110,031 98,088 11,943
J| 77,022
< 9,903
Al 23,106
10 AL SXAIEEE2EH EX 110,031 98,088 11,943

_35_




2N
X ZH -
L= B

el

sS4tz 33 2 IIEXNZ(MI=R/ES - HBL0E
2l

)

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O =HIUHA BESAIE 29X&
110,031,000& 110,031
J| 77,022
< 9,903
Al 23,106
SOHOHIIGHAE KR AIE L AEA 2 (4 010K I oH Xt 327,260 320,800 6,460
NEAE 2L )<E x>
J| 229,161
< 29,463
Al 68,636
307 21201 A 327,260 320,800 6,460
J| 229,161
< 29,463
Al 68,636
10 ALSISXAIEEE2IHEX 327,260 320,800 6,460
OSUHOHIIGH AR & AIE 22X &
327,260,000 327,260
J| 229,161
< 29,463
Al 68,636
SOHOHTIGHAF KIZ2AIE L AEA 2 (4 0H0HIIoH & 153,130 149,900 3,230
g4 2N NE D>
J| 76,486
= 22,946
Al 53,698
307 glz2tol & 153,130 149,900 3,230
J| 76,486
< 22,946
Al 53,698
10 ALSISXAIEEE 2 H EX 153,130 149,900 3,230
OHOHOHOloH &S A 2SXH 153,130, 000& 153,130
J| 76,486
= 22,946
Al 53,698
SOHHEZX SE&AIsZaH(HUHHEZXNEEI s 84,444 83,154 1,290
StALY 2gHl)<E x>
J| 42,222
< 12,667
Al 29,555
307 glz2tol & 84,444 83,154 1,290
J| 42,222
< 12,667
Al 29,555
10 ALSISXAIEEE2EH EX 84,444 83,154 1,290
OSHHEZX SEIIs23AY 29I
84,444,000} 84,444
J| 42,222
= 12,667
Al 29,555
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AN GESOESY

M MY M L OIEXNF(MIEXN/ES - NHELHY)
o
]

S IS S (29 a8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
SOHHEZEX SXIsLSHAHMWHHEZERNSEEI s 31,429 31,429 0
3t e X &H|)<E x>
J| 22,000
& 2,829
Al 6,600
307 QI2t0| & 31,429 31,429 0
J| 22,000
= 2,829
Al 6,600
11T A EXAIEEX 31,429 31,429 0
OXOH&EZX 8&)Is23 HE X2
31,429,000 31,429
J| 22,000
= 2,829
Al 6,600
SOHOHIIGH XF R EXRI<E E> 37,143 37,143 0
J| 26,000
& 3,343
Al 7,800
307 QI2t0| & 37,143 37,143 0
J| 26,000
= 3,343
Al 7,800
11T A EXAIEEX 37,143 37,143 0
OXSONOHIoH XF 22X 37,143,000 37,143
J| 26,000
& 3,343
Al 7,800
SOHOHII o KER A E D) sE2A<KE E> 51,152 0 51,152
Jl 25,576
= 7,673
Al 17,903
307 212t0| & 51,152 0 51,152
J| 25,576
o= 7,673
Al 17,903
10 M SXANEEHESIGHEX 51,152 0 51,152
OSOHOHIIGH AR AIAE JDsEY
51,152,000 51,152
J| 25,576
== 7,673
Al 17,903
=2H| O X &S 2AHII<KELE> 36,000 36,000 0
= 10,800
Al 25,200
307 212t0| & 36,000 36,000 0
o= 10,800
Al 25,200
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2N

HE: 24T M U NS (MA=X/2S - HEL0H)
el JIERR CERED
= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
10 AL SXNAIEEE2EH EX 36,000 36,000 0
O0NA&Esr 2IRA 36,000,000& 36,000
= 10,800
Al 25,200
=Y Ok XEs=EEZ=208 L o= XA( 15,000 15,660 A 660
JME=EY Ol A Y =Hl K& )<EX>
J| 10,500
< 1,350
Al 3,150
307 glz2tol & 15,000 15,660 A 660
J| 10,500
< 1,350
Al 3,150
11T M ZXALSE EX 15,000 15,660 A 660
OJZ =LA =2 HIKA 15,000, 000& 15,000
J| 10,500
< 1,350
Al 3,150
SEZAOGHA 2=28,288l NJA(SZHToAd 2= 20,000 15,316 4,684
bl XI&)<EE>
J| 14,000
< 1,800
Al 4,200
307 gl2tol & 20,000 15,316 4,684
J| 14,000
< 1,800
Al 4,200
11T M SXAIS EX 20,000 15,316 4,684
Od=ZdIlai Xkt A28 A& 20,000,000& 20,000
J| 14,000
< 1,800
Al 4,200
II¥EZS molkd Assls 208 9 o z2dl XA ( 25,714 25,714 0
IIEES Ik NEss T2 2N )NEE>
J| 18,000
< 2,314
Al 5,400
307 gl & 25,714 25,714 0
J| 18,000
< 2,314
Al 5,400
11T M SRAISE EX 25,714 25,714 0
OJEEZYIcHA X222 082Y
25,714,000 25,714
J| 18,000
< 2,314
Al 5,400
IHEES Dol DEBXNS=SEZ Y 2H<KE D> 27,000 27,000 0
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2N

Ha: BT M L NENA(MISX/ES - HEL0Y)
el JIERR CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Pl 18,900
= 2,430
Al 5,670
307 2iz2to| A 27,000 27,000 0
J| 18,900
= 2,430
Al 5,670
11T AISIEXAIEEX 27,000 27,000 0
OJJEZHEIIol A nEXSIET2)H 2H
27,000,000 27,000
J| 18,900
= 2,430
Al 5,670
AEZHMNAN XS ,32EZ2 ) SH<E X> 15,714 15,714 0
J| 11,000
&< 1,414
Al 3,300
307 2iz2to| A 15,714 15,714 0
J| 11,000
& 1,414
Al 3,300
11T AISIEXAIEEX 15,714 15,714 0]
OLZHIlol A X )ded
15,714,000 15,714
J| 11,000
& 1,414
Al 3,300
AEZS DA REXNESEZ]HE 2H<KE > 21,320 21,320 0
J| 14,924
o=t 1,918
Al 4,478
307 2iz2to| & 21,320 21,320 0
J| 14,924
& 1,918
Al 4,478
11T AISIEXAIEEX 21,320 21,320 0
O8=2tsikt REANST208 29
21,320,000 21,320
J| 14,924
& 1,918
Al 4,478
AEZAEANA H2AY, S2H 2, 2UHE2 XN (A 600 1,000 A 400
ZANH A SEH 2 NH)<BE>
J| 600
307 QI2t0| & 600 1,000 A 400
J| 600
11T A EXAIEEX 600 1,000 A 400
O&dZdMolA =ssSHIsSsXA 600,000& 600
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AN GESOESY

M MY M L OIEXNF(MIEXN/ES - NHELHY)
o
]

ol JIEXE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
| Jl 600
SZATIHA o= Hl, 28 N2 (S=S TRt 2hHY 476 552 ATB
Bl XI&)<E2=x>
J| 334
< 42
Al 100
307 21201 A 476 552 AT6
J| 334
< 42
Al 100
11T M SXASEEX 476 552 AT6
Od=Z4mch &t 2+8Hl N & 476,000& 476
J| 334
< 42
Al 100
JIE =Yl EsAE 29 N OIE=ol XAt 2,500 2,500 0
NAEEL XA )<BE>
J| 1,750
< 225
Al 525
307 21201 A 2,500 2,500 0
J| 1,750
< 225
Al 525
11T MISAASEX 2,500 2,500 0
ONEEY IHoi kXt M=l 2,500,000& 2,500
Jl| 1,750
= 225
Al 525
JIE =Y ESAE 29 NJAOIE=0ol At 10,000 10,000 0
=28 HE K& )<E x>
J| 10,000
307 21201 A 10,000 10,000 0
J| 10,000
10 ALSISEXAIEEE2EHEX 10,000 10,000 0
ONE=EHINNESAE LdAXNS ==Xk
MY X 10,000, 000& 10,000
J| 10,000
HEZA2AHAANE S AR =E<E > 78,960 63,840 15,120
< 15,792
Al 63,168
307 glz2+ol & 78,960 63,840 15,120
< 15,792
Al 63,168
10 ALSISXAIEEE2EH EX 78,960 63,840 15,120
OGEZ BRINE BAX =g
78,960,000 78,960
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X ZH -
L= B

el

sS4tz 33 2 IIEXNZ(MI=R/ES - HBL0E
2l

)

Off &t 24

=

i
2

H

Al

15,792
63,168

0x
I
y
(1]
w
>
nx
OB
>
=]
H
4>
EJ

Jl

= M

4,640
2,320

418
1,902

4,800

A 160

301

ue
s
H

b
oy

hn X

Al

4,640
2,320

418
1,902

4,800

A 160

09 HALAHI B A2
e

A

I'
i

ANE B

AT B0
4,

640,000&

=z Hn Y

4,640

4,640
2,320

418
1,902

4,800

A 160

O
=
0x
)
=
paa
19
e
fon
HO
09
A
H

= N H

7,000

3,500
1,050
2,450

7,240

A 240

= N H

7,000

3,500
1,050
2,450

7,240

A 240

-OtSHEEXEAN 29 7,

000,000&

= W

7,000
7,000
7,000

3,500
1,050
2,450

7,240

A 240

o=

HEXN M XA<EE>

= W

6,000
3,000

900
2,100

7,930

21,930

zZ W

6,000
3,000

900
2,100

7,930

21,930

6,

000,000&

6,000
6,000
6,000

3,000
900
2,100

7,930

A1,930

200,000
180,000
14,000
6,000

200,000




2N

CEMEY FXM Y SN (MISEX/ES - HEL0L)
2l

X ZH
S =

el S (29l & 2)
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %E& HRE2

301 LBt A= 200,000 200,000 0
= 180,000
&< 14,000
Al 6,000

01 Al B & A 462 200,000 200,000 0
OWE=EXAIELE==X M 200,000,000 200,000
= 180,000
& 14,000
Al 6,000

Olol S X H<BX> 1,456,000 1,295,000 161,000
= 1,019,200
=} 131,040
Al 305,760

307 QI2t0| ™ 1,456,000 1,295,000 161,000
= 1,019,200
& 131,040
Al 305,760

05 QIZtREZ 1,456,000 1,295,000 161,000
Oootolss XA 1,456,000,000& 1,456,000
= 1,019,200
& 131,040
Al 305,760

ZOHOF JIE LF X JA<E > 900, 125 760,223 139,902
= 630,088
== 270,037

307 2Iz2t0| A 900, 125 760,223 139,902
= 630,088
== 270,037

05 QIZ2tRE 2 900, 125 760,223 139,902
OO I %=X 900, 125,000& 900, 125
= 630,088
= 270,037

FALDF K RA<E E> 215,400 127,340 88,060
= 107,700
= 32,310
Al 75,390

307 giztol A 215,400 127,340 88,060
= 107,700
= 32,310
Al 75,390

05 QIZtRE S 215,400 127,340 88,060
OF XKD IM=X & 215,400,000 215,400
= 107,700
& 32,310
Al 75,390

HAUEsEE e XS E> 15,100 15,080 20
J| 12,080
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AN GESOESY

M MY M L OIEXNF(MIEXN/ES - NHELHY)
o
]

S IS S (29 a8)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 905
Al 2,115
301 LBt A= 15,100 15,080 20
J| 12,080
&< 905
Al 2,115
01 Al E & A 462 15,100 15,080 20
OFadstEel NE X 15,100,000 15,100
J| 12,080
& 905
Al 2,115
H2LIE - 23 II=ERNKHAEH & 200,000 0 200,000
401 Al HI L £ 0HHI 200,000 0 200,000
01 Al& B 200,000 0 200,000
OAHLINE - U2SIISXNIHEH 2L ZA
150,000,000 = 14! 150,000
OBAEE AQNEZHME O™ (HI - CHIOMAH
AR A &X]) 50,000,000 * 14! 50,000
2=E20lLtsH 2d9<E2 x> 40,000 0 40,000
J| 28,000
= 3,600
Al 8,400
307 giztol A 40,000 0 40,000
J| 28,000
& 3,600
Al 8,400
05 QIZtRES 40,000 0 40,000
OZ2&s=0ll=sH 29 40,000,000 40,000
J| 28,000
& 3,600
Al 8,400
A28 & O2sItE N HEH 29<8 x> 393,350 0 393,350
J| 211,675
= 54,503
Al 127,172
307 212t0| & 393,350 0 393,350
J| 211,675
o= 54,503
Al 127,172
05 QIZ2tREF 2 393,350 0 393,350
OHLINE 2 U23IH=E XM EH 2L (AR
ALS B A) 393,350,000 393,350
J| 211,675
& 54,503
Al 127,172
IIE/AEXNRHH 29 36,902 0 36,902
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2N

o BONY BH Y OISNE(MIZX/2S - HSL04Y)
@ XS (e &)
- - . RE!

SAH-EB. S (3H) - HEAY - BE2 0 AF o il HDS2
308 AXISHXMSO0IH 36,902 0 36,902
07 MHXSHN2AEES 2 36,902 0 36,902

OJE/AEXNJAHEH SHH| 36,902,000 36,902
Ch23t s 8= 750,720 817,301 A 66,581
Jl 242,384
& 104,081
Al 404,255

Z2E0/80HA AISIESL= 73,540 100, 359 A 26,819
101 @121l 25,700 29,789 A4 ,089
04 JI2ZtH22XNHEE =+ 25,700 29,789 N4 ,089

OZ=0120d sl HEHEED & =¥
MUl (ol Xel &=) 25,700
PAR=t=] 270,000 10 0 & 24,300
-28 2 203 140,000& *10H 1,400
201 et A | 6,680 24,030 A 17,350
01 AFR2 2t 2l Yl 6,680 17,480 A 10,800
O1. 22 gH| 1,800
“HEB0ID0A DRALEF YuLBY|
1,800,000& 1,800
O5.2 &l 2,880
-UE3IIE UE A2UAZ2 2K =4
8,000 x3Hx10 x12& 2,880
O6.9xtz 2,000
-220/20d EEMESS HA Xt
500,000& *2CH x23] 2,000
202 0db] 2,160 1,440 720
01 2LHOHI 2,160 1,440 720
OZE01204 etz =80l
60,000& *3H 3 x4 3] 2,160
301 dEtE A= 27,000 33,100 A6,100
01 AL 2 & & £33 27,000 27,000 0
OUEFIIE sdtgs NA 180,000& x150 27,000
307 QI2t0| ™ 12,000 12,000 0
11 ABI= XA R 5 12,000 12,000 0
Oxg 23 =N 10,000,000& 10,000
OXZs 23t & 2,000,000& 2,000
CESIINSU N A S A<EX> 18,000 18,000 0
& 5,400
Al 12,600
307 212t01 & 18,000 18,000 0
& 5,400
Al 12,600
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2N
X ZH -
L= B

el

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2

11T M SRASE EX 18,000 18,000 0
OY2XE At 7FHI 18,000,000& 18,000
= 5,400
Al 12,600

Ct23HE=2XAIE SA R =E<E 2> 16,800 16,800 0
< 3,360
Al 13,440

307 21201 A 16,800 16,800 0
< 3,360
Al 13,440

10 ALSISXAIEEE2GHEX 16,800 16,800 0
OMEISXIANE IHAS =& 16,800,000& 16,800
< 3,360
Al 13,440

CEisseded (BEX) 56,800 56,800 0
= 11,360
Al 45,440

307 21201 A 56,800 56,800 0
= 11,360
Al 45,440

11 ALS S XAEE = 56,800 56,800 0
Oottzshits 22 29 56,800,000& 56,800
< 11,360
Al 45,440

ZEOUHLEWSEKA (BX) 8,000 8,000 0
< 2,400
Al 5,600

301 et d = 8,000 8,000 0
< 2,400
Al 5,600

01 MEIBEZE 405z 8,000 8,000 0
OZ&0l20y st =Hdl XI& 8,000,000& 8,000
< 2,400
Al 5,600

Ct2solains (Ex) 29,000 29,000 0
< 7,000
Al 22,000

307 21201 A 29,000 29,000 0
< 7,000
Al 22,000

11T M3 SXAISEEX 29,000 29,000 0
OUZstolofu= 29,000,000& 29,000
< 7,000
Al 22,000

CENE EFEZZ2 BRI I<EE> 30,000 30,000 0
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HEMEFD
MY Y L IEXNF(AMIEXN/ES - IHFLHY)
23 s Iy 7:8dE)
SA - BB B () - MM - BES Ol &t o San HmEET
< 6,000
Al 24,000
307 glz2tol & 30,000 30,000 0
< 6,000
Al 24,000
11T M Z2XALE E 30,000 30,000 0
OtU=aItE Satzzdy 23X
30,000,000& 30,000
< 6,000
Al 24,000
IS 2SS 2> 10,000 10,000 0
< 2,000
Al 8,000
307 glz2+ol & 10,000 10,000 0
< 2,000
Al 8,000
11T M Z2XASEEX 10,000 10,000 0
Oot=ais =ategsX 10,000, 000& 10,000
< 2,000
Al 8,000
Ct2sh & 22 44,320 44,320 0
201 Let24E] 20,320 20,320 0
01 At 22l 20,320 20,320 0
O3.2d=¢ 20,320
-2 NS A5+
35,0003 «1H «4 Al 2t 13| 52 7,280
-2 NN sd+Y
50,0003 x1& »4 Al 2t+203] 4,000
-OEsgdEd =L HessE
30,0003 «1H «4 Al 2t 13| 52 6,240
-OEsgdEd =L SHsE
35,0003 x1& »4 Al 2t+203] 2,800
301 LAz 24,000 24,000 0
09 EAEHIE &S 24,000 24,000 0
ObU=edad dg Adl2d
20,0003 *30H 43| x5 12,000
OUZstgrad 3 Adl24
20,0003 30 203 12,000
s @ THTHME § SRUSMHEH A XJ<EXR> 197,640 202,350 A4,710
J| 138,348
= 17,788
Al 41,504
307 21201 A 197,640 202,350 24,710
J| 138,348
< 17,788
Al 41,504
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A HEaSMEFD
HE: 24T M U NS (MA=X/2S - HEL0H)
R U2 s 8 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
05 QIZtR E 2 197,640 202,350 N4, 710
OXNEFYE & IHEHME S U2 NS AU AKX
197,640,000 197,640
J| 138,348
& 17,788
Al 41,504
ALIAE 2 ORI EXNKFHEH 2H(TH2EIHE A 21,752 20,000 1,752
dlatel X&)e x>
J| 15,226
= 1,958
Al 4,568
307 QI2t0| & 21,752 20,000 1,752
J| 15,226
= 1,958
Al 4,568
05 QIZHREZ 21,752 20,000 1,752
OUE3IIE At &2l X 21,752,000 21,752
J| 15,226
& 1,958
Al 4,568
250|120 X SHAMHIA XSA<E > 44,448 34,464 9,984
J| 31,114
= 4,000
Al 9,334
307 2Iz2to| A 44,448 34,464 9,984
J| 31,114
== 4,000
Al 9,334
05 DIZHoEr2 44,448 34,464 9,984
OZE0|8 X SHAAHI A KIS 44,448,000 44 448
J| 31,114
= 4,000
Al 9,334
ChEsIIE A eY I3aE x> 60,258 58,912 1,346
J| 42,183
= 5,420
Al 12,655
307 QI2t0| ™ 60,258 58,912 1,346
J| 42,183
& 5,420
Al 12,655
05 QIZtRES 60,258 58,912 1,346
OUE3IIE MEAdee XI& 60,258,000 60,258
J| 42,183
= 5,420
Al 12,655
St2=HuEy 2Y<EX> 22,162 22,162 0
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2N
X ZH -
L= B

el

2 IIEXNE(MSSX/ES - Ot

bl

i

e
=)
0x

CHE - EI(SA) - NRAY - B S

Off &t 24

=

i
2

ol I

15,513
1,995
4,654

307 21201 &

Jl

= M

22,162
15,513
1,995
4,654

22,162

05 DI2tS]

22,162,000&

hn X

Al

22,162
22,162

15,513
1,995
4,654

22,162

Y
Ton
o
o
2
0x
(=]
Of
e
(=]
o
>
ne
-
o
L]
1]
>
R
N
HT
o
Vv

Al

118,000

35,400
82,600

118,000

307 glztol &

Al

118,000

35,400
82,600

118,000

1A SXAIE 2 =

O0IS AU Z AL Xl =AY 118,000,000

= M

118,000
118,000

35,400
82,600

118,000

02

F2EPU(6Esa 220 (0IEHIIE)

IA]

= MW

385,788
193,912

7,024
184,852

351,319

34,469

= W

277,674
193,912
7,024
76,738

265,151

12,523

!
x
e
Jy
H0
02

H(XIY EHAEE SgAtd2el XH)

N
H
FA
A\

H

Al

220,161

170,500
49,661

238,997

A 18,836

101 1A

H

Al

220,161

170,500
49,661

238,997

N 18,836

OtS S & Aredl 2 el Al
220,161,000&

= N

220,161

220,161

170,500
49,661

238,997

N 18,836

= MW

57,513
23,412

7,024
27,077

26,154

31,359

57,513

26,154

31,359
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SN HEENBED
M HMSAAH (HASAEZFU)(IIEH/IIE
Sel: o2y (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 23,412
& 7,024
Al 27,077
03 RIAHL*ZZXHE S 57,513 26,154 31,359
O X <= A = X AF 57,513,000 57,513
= 23,412
= 7,024
Al 27,077
Jl2d | 108,114 86, 168 21,946
EXN29d| 9,414 9,368 46
201 et 9,414 9,368 46
01 AP 2t 2] H| 8,934 8,888 46
OFNMSY LEt=24| 4,110,000 4,110
OBNMEYE S| 1,656,000 1,656
OEAD| Xt 132, 000& =2 x12& 3,168
02 224 H| 480 480 0
OEMESY 2222 480,000 480
HAR2F=X 0| 94,500 72,600 21,900
202 04| 94,500 72,600 21,900
01 2L HI 94,500 72,600 21,900
OFIE2F=ANY| 20,0003 x25H x 15 x12& 90,000
oMo e =2 2 X0 Hl 20,0003 *25H x3 x3& 4,500
R F X H| 4,200 4,200 0
203 ¥ 2 =&H| 4,200 4,200 0
04 FEASHEYFFEH| 4,200 4,200 0
ORNSYALEY (B R :23)
350,000& x12& 4,200
HEES(HEASMESH) (AISIEX/ES - IIEZHA) 3,546 3,546 0
LHEHeH K= 3,546 3,546 0
22 (M4ET) 3,546 3,546 0
701 JIEISI HSEE2 3,546 3,546 0
02 BI)ESEIHIBAMNTEZ 3,546 3,546 0
OUAESXAIEULARN 422 2HZ S
1,440,000 1,440
OOs=SXAIE 4 28HZ2 X
2,106,000& 2,106
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